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Carbon Footprint Calculator in Japanese (HAEEhRR)
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How do you get to school? @
@ Drive
1 Walk
2 Cycle

Enter your answer (0-2) [
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1 #!/binfpython3
2 from data import guestions
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1 #lsbinfpython3

2 from data import questions

3

4« for question in questions:
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from data import guestions

* for guestion in questions:
print{question[ ' question'])
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How do wou get to school?

How often do you eat heef?

What do wou set wour aircon to in summer?
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for question in questions:
print {question[ ‘question'])

for answer in question['answers']:
print{answer['answerr]}
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for guestion in questions:

nrint fquestion[ 'question' 1)
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for answer in question['answers']:
print{answer['answer ' ])
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print (question[ 'question'])
i =8
for answer in question['answers']:

nrint fanswer[ 'answer ' ])
i +=1
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for question in questions:
print {question[ 'question'])
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for answer in question['answers']:
print answWer[ 'ansuwer ' ])
i +=1
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for answer in question['answers']:
print (i, answer['answer'])
i +=1

response = input("Enter vour answer"
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for answer in question['answers']:

print{i, answer['answer'])

1 +=1

response = input{"Enter vour answer")
lprint{question[ 'answWers ' ]J[response][ ' carbon'])
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TypeError: list indices must be integers, not str on line 12 in main.py
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for answWer in question['answers']:
print (i, answer['answer'])
i +=1

response = input("Enter wvour answer"

response = int{response

print questlnn['answers'][Pespnnse]['carhnn']ﬂ

c BAT v T ORIRFEREF AT HOTIE AL i LIZEF 2170, T TOEMBME
bolrBICERLEEVWEBWET,

- ET BMA—T 2R HHIC, GEMEZCHIIELT 2 MERH D 7,
#libinspython3

from data import questions

[total = @ |
tor guestion in guestions:
print (question[ 'question'])
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response = input({"Enter wvour answer")
response = int(response

total += question['answers' FEsSpOnSs e 'carbon'
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12 response = input{"Enter wour answer")

13 response = inti{response)

14 total += question['answers'][response]['carbon’]
15

16 [printitotal) |
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13 response = int(response)
14 total += question['answers'][response][ ' carbon']
15

16 print{"¥ou emit appriximately", total, "kg of 02 each vear. " |
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1a 1 +=1
11
12 response = inputl{ "Enter vour answer (@-{%)".Format{i)) |
13 response = int{response) ]
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FESpOns e input{"Enter wour answer {E—{}}".Fu:ur"mat]l

FESpOnSE int{response)

Fntal += question['answers'][response][ 'carbon']
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12 = 7 " vour ansWer (@-{Fi1".format(i-1))
13 - if response.isdigit(}:

14 Fesponse = int{response)

15 total += question['answers'][response]['carbon']

1L

s =P =REFTIERNEDE AN LG E, HFEEANTOUERHD Z L 252 D0
TWRH Y ET,
if response.isdigit():
response = intlresponse
else:

nrint("That's not a2 number!”

total += guestion['answers']J[response][ ' carbon']
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print{"That's not a number!")

1f response >= @ and response < 1:

total += guestion['answers'][response]['carbon']
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| valid = False |
response = input("Enter wour answer (@-{F)".format(i-1))
if response.isdigit():
response = int(response)
glse:
print("That's not a number!")
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Iwhile not ualid:l

response = input({"Enter wour answer (@-{}1".format({i-13)
if response.isdigiti):

response = int({response]
else:

print{"That's not a number!")

if response = @ and response < 1:
total += question['answers'][response][ ' carbon']

print{"vou emit appriximately", total, "kg of (02 each wyear.")
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18 print("That's not a number!")
19
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21
22
23 total += guestion['answers'][response]['carbon’']
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28 - if response >= @ and response < i:

21 valid = True

22 - glse:

23 print("Please enter a number between @ and", 1-1)
24

25 total += question['answers'][response]['carbon’']
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27 print{"You emit appriximately", total, "kg of C02 each wear.")
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